EAGRAROBREERT — 2 N— ABISH —F

20205F9R9H (k) 9mAKFH3H

I =rre>t5sPAT4E Clma v5%—#

‘ [Riz] ¥ ‘ [REBE] — | & (%) 1600M 4E

[A~&£] 17 :1,200,000  ~ 23 :480,000 § 37 :300,000 § ~ 43 :180,000 @ 5 7 :120,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
o s # 5 | ATHEER 1:42.8 4-4-4-3 | 40.6| — 8 467 | FRERAE (KFH)
1)gj10) -z Ah- 5.0 ) o | @) Tr-bETa
R:TS5v 84K B:5TU—NO-X EdHTT— I
oy — o +2 ] 142, 00— . - REERZ (KH)
1 c FAEE 2L A “ " 5.0 1(74%:? reo2 1408 ! (ﬁ% BEE
x4 a Biza-—-ANJr g5 Rg
N Pl — A — 44 | SHER 1:43.0 3-3-3-3 |41.0| — 4 481 | HARE (KH)
307/ 9| N1 T L= 56.0 (1 1/4) (3 |EHERB
R:bhwHiOo—1)— B:7—IN2ANIL/ BRI
. o7 | HIlSR 1:43.1 8-8-8-8 |40.4| — 9 464 | EAARHE— (KH)
4 8 e Ol N a4 56.0 (1/2) G7) fH) BT 7 —LEE
L:TLAIZ>TI 8 BT RIA4YHT5 ARAINT7—L
. # o5 | FHEEE 1:43.2 12-12-12-12| 38.0 | — 6 432 | FFLEBLZ (KFH)
5lgle|E-ZTNELZ 56.0 (76) Ca |dmE=
R:A—J XL A4 BRAINZZXZ— ElA=tie
S )3 143. —6-5- . - HFLETE (K3H)
6l8l11| 2B/ 7>V 3R fo4 B 1(14/32>3 5-6-5-7 | 41.0 7 (4_439) IR
R:EINT— K B:XT) 784 L5072 2R RS
2L S o4 | mEE 1:43.3 10-9-9-9 [40.7 | — 3 493 | FEETE (KH)
] 3| KIrHhx=w 56.0 nF) oy | (P HIFE
v RayA BTTRAINY— =ltve]
— o= 4 5 | BEEX 1:43.5 7-7-6-6 | 41.1| — 10 | 461 |ETEE ()W)
8(8l12| T¥FHT 1T 7R 56.0 (4 1/4) Gy | T UK
L:0—-KAp+0O7 B:7 F—% =is =L
s s 3 | TH#F 1:43.6 9-9-10-10 | 40.5 | — 1 436 | B (KH)
9 4| K/ 53.0 7E) (0) Sehte
L:hxexy B:rIVNvE-— WmAx &7
© Sl 4 3 | BHE 1:43.6 1-1-1-1 [41.6| — 2 489 | WAEHEZ (KH)
10 o|TyrTvyra ¥¢54.0 (7€) (+4) | AIERF
RL:ZA%—b77)0> BNLECRN/ =T [E]=sEae
N R PEANIRAE : ~5-6- - BB (/\HE)
11 5 5 ZI‘D/79"I’I’/ % 3 53.0 1.(444).4 6565 2.0 > (4_:;5) *?17].151‘-3“
L:zkAryYE—> BFIALTIYR RIS
= 5 # 3 | RENE 1:45.0 1M-11-11-11| 41.6 | — 12 458 | H LAz (KH)
12011 PE/DA1Z> 53.0 3) (c) | ¥R AwsgEak
LM EALYTPR B I1XTay HARHE 41X
@ 1—F—@&BIEf
12—74— 2,7,9,10,11,5,12,8,4,3,1,6
2al=7F= 2,7,9,10,5,11,12,8,(3,4) ,1,6
Gal=7r= 2,7,9,10,11,(5,12),8,3,4,1,6
41—+ — 2,7,(9,10),5,12,11,8,3,4,1,6
[ RN
B OB 10 2,550 714K 7-10 910M e & 6-7 590M 3ER 7-9-10 4,790
1 B 10 390F9 9-10 2,310/ B 7-6 1,520/ JEH 10-7-9 60,520/
7 120 7-9 300M B E 7-10 2,740
9 220M B H 10-7 7,230H

ARICOVWTRDTEEERROODE. TR LI,




